


αβ

Задача № 1

Дано: α – β = 300

Найти: α, β. 



1050 и 750

Правильный ответ



αβ

Задача № 2

Дано: α = 900 + β.

Найти: α, β. 



1350 и 450

Правильный ответ



Задача № 3

α β

Дано: α = 3 β

Найти: α, β.



450 и 1350

Правильный ответ



Задача № 4

α
β

Дано: α : β = 1 : 5

Найти: α, β.



300 и 1500

Правильный ответ



Задача № 5

Найти: <AOB, <AOD, <COD

230
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O



<AOB = 1570, <AOD = 230, <DOC = 1570

Правильный ответ



Задача № 6

320
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Найти: <BOC.



1160

Правильный ответ



Задача № 7

 Найти: <FOE.
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1000

Правильный ответ



Задача № 8

370

B

D

C

EA

АД – биссектриса

Найти: <ВАС.



1060

Правильный ответ



1. 1050 и 750

2. 1350 и 450

3. 450 и 1350

4. 300 и 1500

5. <AOB = 1570, <AOD = 230, 
<DOC = 1570

6. 116 0

7. 1000

8. 1060

Ответы


